World War One

Canadiana ScrapBook
Answer all questions with appropriate responses on separate paper. 

1.  Turn to the timeline on p. 6-7.  Calculate the total number of casualties Canada suffered in major battles  (purple)  during the course of the war. How does this compare with the total number of estimated deaths that Canadians sustained? (Hint:  Search the whole two page vignette)
2.  (p.6-7) Using the great alliances (Triple Entente and the Triple Alliance) create a graph showing population along one axis and the wartime army size along the other.  Use one colour for the 3 major Alliance members and a separate colour for the 3 major Entente members.  Plot each country as a point only (do not join in a line) to ‘view’ the data.  Mark each point with the country name.

2.1  Did either side possess a clear advantage in either population size or army size?


2.2 Which side possessed the larger total population?


2.3 Which side possessed the larger total army size?

3.  (p. 16-17) What were the seven (7) different ways Canadians planned to ensure communication systems during the attack on Vimy Ridge?

4.  Using the chart on page 25, give the total number of allied ships lost vs. the total number of u-boats lost (hint- it is a double-sided line graph so look on both sides of the graph for info).  What percent of the total ships lost was the u-boat?  What percent then was the allied ships lost (Hint:  You will have to do some adding here…)? Make a statement, in economic and social terms, about the data you have collected from the graph.   
5.  (p. 28-29) In a paragraph, make at least three arguments stating why Arthur Currie should be considered a national hero?

6.  (p. 42-43)  Create another graph from the information listed about Enlistments vs. Casualties for the year 1917 – this can be a double sided line graph (see question 4) or a comparison bar graph (hint:  see the graph on page. 25 to view a double sided graph).   Casualties are on one side of the graph, enlistments on the other and months of 1917 along the bottom. What observation can you quickly make from looking at your graph?  Speculate why the observation you have just made from the data is happening.
7.  (p. 44-45)  Using the ‘Cost of World War I’ table give the following;


7.1  The percent of Military Deaths from Total Force Mobilized


7.2  The percent of Total Wounded  from Total Force Mobilized

7.3  The percent of the Allied countries cost vs. the percent of the Central Powers cost. 

